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Find the unique such
at

or

Determine the line

following data :
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that :

ll) = l, ,14)

1Q). 6'h
using Lagrange ing

(b) For the following

r,ll) t4, 
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).

Obtaiil the PolYnomial

(c) If

find the divided Jlx,, x, x.,. xo) 6v,

(,r) Calculate the coe t of correlation from the

6follorving,

Y

252

249 610 P.T.O

X for the

l'

34t

D
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:64,
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(l

Newton divided difference

6%

,'

lr) :

x



2.

(-)

(lr)

1(x) : x' -

Sccant method to o

(c) five iterations

root of

required when

where a is a reai con

A real root of the e

0 lies in the interval {a, b),

imum number of iterations

permissible error is €. 6

ation :

+

l). Perfonn foLrr iterations of

this root 6

14l

Lql

equations:

For which values of a the

verges. (

I

I

Gauss-Seidel method

1,000

(c)

(Given, e 075 = 0.473).

distribution.

om of pages will

6%

347 ,1

fI

then what is

' Iies in the interval

find the root of NL.

proximation r = l

(q) Consider the system

t: I

) 347

Newton-Raphson m(]thod to

N = 17. Take initial ap-
tl

.-, 6

6

(

contaln no error.

6%

(b) IfX is a normal variate with ruean 30 and S,D. 5. Finri

the probabilities that : 6%

(r) 26<X<40

(ii). x>4s.
6'/z

Detcrmine rhe moment generating funclion of Binomial



) ) (

Solve the follos ing system of 'equations :

(c)

P(o)=]andif

detennine P(- l) and P(t

(a) L,et X have thc Pdf

2xr '1 t. | .,4- 2.nr

4x, +0r.+ 2:rr*rr

+ 3'lr" I br

3xt+ 2r,) 2\+ lxa='7

= l0

-8

5

elsewhere- lf

6

5.

,l<
,

Let X be a randont v such that

E[(x b

exists for all real b S

E(x-b

is minimum when 6 =

1)

X) does not exist. 6t/z

6/"

distribution
it
6%

ical errors occul.

6pivoting.

3rr+.r;+lxj:2

(l) Show that Jacobi iteration scheme converges

(ir) Starting with Xo = [0, 0, 0]r, iterate three

0x, * 2x,

6.

G) Determine the mode of

(a) In a book of 520, Pages' 3

Assuming Poisson law for of enor Per Page,

tlmes. 6

P.T.O,

I

(6

at r = l. 0, I and zero
(t

34'.1

v1

l)

l

i

lu)

zero elsewhere Show

I
4'

Using the Gauss-elimination method with partial-

(c) For the following system of equations :

f
2xr-3xr+'rr:0

I
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